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Entrance Examination

MATHEMATICS

Time allowed: 60 minutes

Instructions
Calculators are NOT allowed. You may use a ruler.

Attempt all questions.
If you cannot do a question, go on to the next one and try again later on.

Do not ask the teacher to explain a question to you.

If you finish before the end, check your answers and then wait qu.ietly in your place.
If you do not finish, or if you cannot understand all the questions, do not worry.

Section A ;
e You should spend about 20 minutes on this section. Each question is worth 1 mark. There are 20 marks for

section A.
Each question is provided with FIVE possible answers, only ONE answer is correct.
Write the letter for the correct answer in the box on the right

If you make a mistake, rub it out and try again.

Section B
You should spend about 40 minutes on this section. Marks for each question are shown in square brackets

after the question. There are 40 marks for section B
Write your answers and working in the spaces provided. DO NOT use extra paper.
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1. Whatis483+587

’ A:431 B: 441 G531

E: 551

2 Subtract 108 from 525.

| A:327 17 C: 407

D: 427

E: 633

a2 What is 55X160?
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Work out three eighths of 264.

A: 61 B: 88 C: 96 E: 108
| | 7. Which digit should replace the * :;&I:w?
% s
l;-% S 8 3
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13 cm |
. \
@Gcm B: 29cm C: 26cm D: 18cm E: More information needed
13. | buy 4 Mega Bars at 65 pence each and 3 Star Bars at 83 pence each. How much change do |l get
from £10?

AT Bl i e 83)

4.91 B: £5.09 C: £5.91 D: £5.19 E: £4.81

14. Two positive whole numbers add together to make 23. What is the smallest possible answer when
he two numbers are multiplied together? 23 = :
S T & g L8 555 Q)F//%JC\) A S

245 s 2 lis
- 23 i LRl a7 15 19 20,20 09 5
o e R T B

i .'} » 1213 (>

Ix23 5&00‘(\ pm ;

nber is 8 bigger than three sevenths of the g@rﬁge?. %Vhat’ s the number?
= :
= 2+ g
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Dave and Eddie are cyc)i ;
completes a lap eve::yy z.:: et-::t‘;:‘udnd atrack. Dave completes a lap every 30 seconds, and Eddie k
complete 15 laps? . s. How many laps will Eddie complete in the time it takes Dave to ¢
wugh: | UPE3a s = !’
L. g B lops= 5o Stqmi
L L lep2osl s, %,
f
EBO. = ¢
A: 15 B: 16 @a D: 20 E: 25 25 : k
17. The|;°;:_|? of five different, positive odd numbers is 85. What's the most that the largest number |
B cou
4 Y\,( <N
A TS S £ I T
Cigasa l“‘*%":.'(" 5 % _?'1’ & tg"\o@(:(\w?b\ ov’)\—“\om
-" R R b’??’t.s'o
(@ B: 35 625 D: 21 E: 17
18.  Whatis the area of the shaded diamond below? [Diagram not to scale]
- kK S+= )
R L wea e Oln. s 22 rn)e =2
B s e
e Bes 0 7 T
;{é ok 22cm

S

e NV

B: 264 cm?  C: 198 cm? 32 cm?  E:66cm?

ctly 15p using %p aitdlor 2p pieces?

S Y g~ W
7

nt ways are there of paying exa

1
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i Section B :
n each of the number sequences pelow:

21.
Complete the missing numbers i

31 o napadey e B G

e

5

1,13, 2% i st
Ql}. %_!28 51§ o awﬁ&‘Wasﬁfhaﬁﬁ
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at 6.30pm? [Draw 2 picture to

the hour and minute hands of a clock
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240

For each part of this question you should try to find all the possible answers.

umbers be?
a) Three different positive odd numbers add up to 15. What could the three n

l) 3, 52 ? q} ”) I'\s) LSB/

i N

s 1 S '3TTA 2 o
3“141519 (I 7{.
3% 12 Mo
N 5,7
51D ’
3@1 , .
7°° % ’37‘\7
”§<3)/
9° ¢
7;}45/ L= DF’hO‘\SZmarks]

Jenny=q or 1 Or

Aﬂs,Q,Q,c;_ (li;?zj
(]) D‘/:Z 13;2 7<
leg '43 X
oA i 11, + A D >
® 0,5 X
2
| 3 g St )
| 5 7 X 1 2,
) » ) 'rﬂa/rs
78 fw/ﬂ 1, 2rmiarks]
@)qx
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The diagram below shows part of a train timetable:
( Operator, GW | GW | SW
Notes *
E“ d 0539
Earley d 0544
Winnersh : @
- Wokingham -—d
Bracknell d 0559
‘Martins Heron d 0602
Ascot ) 0607
Sunningdale d u?n
ongeross d
Virginia Water a 0619
a - | o623 |
estf | 0628
o | AR M %
a > _“35
a , ’J e
: ST el
- a | 0645 |
a 0651
> 1h
L] R

a) How long does the 0548 from Winnersh take to reach London Waterloo?
BEAE = 7 Dy |

answer:|..00.06. LS. MIDF

5
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racts 11, he gets the

ANRaT I Yhen hedmhlsﬂunﬁwaha%an subt
s his number?

Lo T
\%:(4—

{1 mark]

wessesansssesanannens

of a number. When she takes away 11 from the number and then dogbles the

82. What was her number?
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2N
;8. lmran notices that wh Y,
Y en he takes the digits of the number 652 and multiplies them together he b ‘90/00
Q’oo
a) How many three digit numb igi i ite d ishe \
. — ers are there whzse digits multiply to give 60? Writedown a
0 | 2 3 4 5
2x 5xc /f 0
v <X 3 MR
X3 x5 A |
3X 10 Need Sing'e
/\ Qigid
2% S |
+53 4 Ty boc ¥ 3X 5
4
554 =3¥ax3x 5
4x 3 X5 (2 marks]

Answer:..

ex2x5 .
se digits multiply together to give 40?7

b) What's the biggest three digit number who vy
N
<y < T
>4z =40 2 X
(\ X 1
3 O
gXIXE ; ’1
4 \__,_,) Use \;@; 2% S
breqese  Nypaber . 40=23xXx5
G ! -
to rsy . ,ZX82X><P2 x5,
(St
nUMbCh
[2 marks]

351.

c) Imran says he has found a three digit number
carefully why he must be wrong.

Answer:..
whose digits multiply together to give 65. Explain

/\
Ex 3
| XG5 %Dr\)\j ’fOQ—-}Dk—S ol b
/\ d\bwy\ N R hrdken
Sx 3 Ny 3 S‘“‘\)Q
‘RH N UM be » {1 mark]

””O -
Q
1 Opflcrls A0 Nt Give.
\

S Sin
qj:‘? Gle é“°\0~t$
9%
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.b;/ w m i f the

: square is the total o

( 29.) e diagram below is made using the following rule: the number in each sq
numbers in the two squares below it:

17

30 +5

|19 20|28
8 |3 |yg 8 |12 [/¢
5139 |7

[3 marks]

b) The same rules are used in the diagram below. Also:

® ,Aand B are positive, whole numbers <q
® ( Ais bigger than B

Ans. o
21 T AR
O y A/ B o°
2 | A LB \
What are the possible values of A and B?$O \L__
Sn~
5 Doa” _2‘#49? s
-+ A = e 2 9?\( 7\ 4;2\\\?
A4 R = %5y
; iL TIPS Y NARE
}’i*wcza ) 20 X 9,12
: mY
/ 3, (5 g«)u "0y
~o, 417 275)12, 9
s 51¢ 353, 5
=) - g ! | 4- 7
'416‘) C, “) (f ‘” s’ 7
\l'/; 7/:) K.D‘: , .‘/}I"}' §5§(1 :M/ s
‘fg,.:;‘/? 4 &, 1516 947!
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